IF=RO8B) T=ZI,—7FX>I
1ET)—TREE,—F > F

IR 2R SF F
F—L4XGOTOH
HyIT&
BSTC-AF—AL —_— 60 63
Hy I
61 63
T — TuIR
65 63
MIT:BF—L
MIT:B
61 62
BSTC-CF—AL
7 F— LA
63 63
MIT:AF—L
MIT:A
65 64
Free STYLE
F—LaA
65 60
FE8WSPHPHIEB
F—LA
60 60
F—LA




E2

IF=RO8B) T=ZI,—7FX>I
2T/ —TREF—FHA2 P

MIT:CF—L

E85K

=K

JI

BYE

F8WSIWIEA

BYE

Oy Ra—LA

F—L-IIH

HRALAKRYV 4

1R 2R SF F
MIT:C
63 61
8 51 3 £K
MIT:C
60 62
580 510 3 %A
62 63
| MIT:C
65 65
Oy O RXa—L4
R .S= VN
61 60
A AR LARV4
62 61




E2

IF=RO8B) T=ZI,—7FX>I
it T — TR F—F X > F

CYzWhWE2

PELRN~TFTA

BSTC-BF—L

HEMLTC

PELNV~TFC

PELNV~TB

F—LIZLXA

CYzWWeTC

R—2 X+2

IR 2R

BSTC-B

SF

BSTC-B

60 60

64 65

HEALTC

62 62

F—LIZLDOA

61 60

R— > X+2

R— 2 X+2

HEALTC

64 46 8-6

HEARLTC
60 64

62 46 7-3

60 26 7-3



